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No. of Question~ qj\ ~ : 100 

No. of Pages for Question~ ~ ~ qj\ ~ : 27 

rime: 21 Hours] { Full Marks: 300 

{ '[."Tf>I> : 300 

l\Iote: (1) This question booklet contains 100 (hundred) questions in all 

(30 in Section - A and 70 in Section - B). Attempt as many questions 

as you can. Each question carries 3 marks. One mark will be 

deducted for each incorrect answer. 

Zero mark will be awarded for each unattempted question. 

li'f! W'! 3~"" 1't '!j<1"lOO ('lit) W'! t (w>6 - ar 1't 30 q ~ - • 1't 70) I 

~ w.if oil 6<'! 0R"t "<1>1 ll<WI oR I lI"f'1q;- W'! 3 3I'<Ii "<1>1 ~ I lIf'lq; 

"Ifiiffl" l'fffl" ,p ~ 'l'fi 3Pf; 1ffTCT """'"I lI"f'1q;- OljtlRd W'! "<1>1 =iq; 

'l"'l ;;)7rr I 

(2) If more than one alternative answer seem to be approximate to the 

correct answer, choose the closest one. 

~ ~ ~ ",f@l", i3ffi <rill i3ffi <i; f.'r<!>c tit <it f.'l '" ed '1 <rill i3ffi -e; I 
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SECTION-A 

1. Which characteristic from the following is least connected with a teacher 1 

(1) Effective verbal communication (2) Good rapport with the students 

(3) Respect from political leaders 

(1) "~I"",,<ft .,,~q; 'I1q)"1 

(3) "G1 ~ fiI q; ~"iff 3ll'R 

(4) Command over subject matter 

(2) l4.ul'lm <i> <ITO! 3lmT ~ 

(4) 14.4"'I\IlR 3ff'Iq;" 

2. Which one of the following is the focal point of the entire teaching system ? 

(1) Knowledge (2) Student (3) School (4) Teacher 

(1) -.rT'! (2) 14<lloli (3) 14<l1"'4 (4) fmq; 

3. "The individual develops through the head, the heart, and the hand." This was 

the Educational Philosophy of : 

(1) Pestalozzi (2) Comenius (3) Froebel (4) Herbart 

"111"1\ fffi:. lK'! 'f'i _ llRT l4q;tft" .mrr % I" <TO ~ G<!'! orr : 

(1) ~""",Iuj) 11>1 (2) q;~f.l4'1111>1 (3) ~ 11>1 (4) ~ 11>1 

4. In order to win the trust of students, the teacher should behave with them like: 

(1) Mother (2) Friend (3) Teacher (4) Father 

14<lll'ltif 11>1 14,,,,'11 -.:fuR <i> ~. fmq; 'lit ~ <ITO! f<l>'I1<ill <f'{5 "'''6'' 'IR'!T 

~? 

(1) lffifT (2) fi'f.;r (3) fmq; (4) fifflr 

(2 ) 
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5. Why do you want to be a teacher? 

(1) To pass time 

(2) To receive salary 

(3) Your friend is a teacher 

(4) You like teaching and enjoy functional interaction with the students 

3IItI ~ ~ 'I"if iI'f'I1 ~ t ? 

(1) "W'I'I !!ull<4 <f; fffir 

(2) ~ = <ffi <f; fffir 

(3) WORT fl1-;{ ~ ~ t 

(4) l!'I 1:fiWIT 'Rf"G om) it <!<IT flltllf'\"l <f; WI fsl;",,,,,,, 3RI:flI;m <PI 31T'f"( 

"AAiT 

6. What will you do as a teacher, if the students do not attend your class? 

(1) Know the reasons and try to remove them 

(2) Think of using some interesting methods of teaching 

(3) Keep quiet, considering the present attitude of students as the change of the 

culture 

(4) Blame the students for their absence 

~ 1m! 3l1Il<Ii\ <mr >t ~ "'Ill! oRI, <it ~ ~ <f; '<it! >t 3IItI 'I'lT ~ ? 

(1) 'Im"ir q;) ~ 3ft< ~ "" <ffi <PI lI'lffi ~ 

(2) fmlur <tr '!l" v~"'< ~ <PI lI'WT <ffi <f; fffir ~ 

(3) '/iq;RI >t q~4<l1 <f; <J;R11T, "ETr.iI'f <f; """'"" "~,,,)o, q;) "lR >t '1mf S'/, 

'IlR! wt 

(3) P.T.O. 
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7. What will you do, if you are not selected for B. Ed. ? 

(1) Leave the desire to be teacher 

(2) Search for some other profession 

(3) Reappear in examination for B. Ed. 

(4) Tell the people demerits related to selection 

~ 3lT'! '!>T "flf'! ;fie '1'5e ~ ~ 'It'f S"IT. <it 3lT'! 'f'!T ~ 7 

(1) fmlq; 6'R ql\ 3lI1'lt .-.m '!>T <'IJTf q;;r ~ 

(2) ~ 3RI &lqfll~ ql\ <r11"m ~ 

(3) ;fie '1'5e ~ ~ Tf: ~ ~ 

(4) "flf'! ~ ~ otT<if q;) ~ 

8. An ideal teacher is one who: 

(1) covers the full course (2) helps students in learning 

(3) is a friend, philosopher and guide (4) likes discipline 

'!'I' ~ fmlq; <!t< t, "1'1 flI;- : 

(1) ~ q I '\""" q;) 'lY' 'IffiIT ~ 
(3) fij,J, ~1'I\f.1", 'l'i ",.r~~r", mm ~ 

(2) <w.It ql\ ~ -It tt!$I~<11 'IffiIT ~ 

(4) 31j~"tt'1~~ mm ~ 
9. Efficiency of a Principal depends mostly upon: 

(1) maintaining good relationship with students 

(2) maintaining good relationship with teachers 

(3) maintaining good relationship with parents 

(4) maintaining good human relationship 

'!'I' 11>11 '11., 14 ql\ '!l tit" <11 If§<f '!j9 f.'I>R rnrt t : 
(1) ~ ~ ~ 3l'fU w..<l 'Rl"1 m 11<: 

(2) ~ ~ ~ 3l'fU w..<l 'Rl"1 m 11<: 

(3) 3lfl1~1"",1 ~ ~ 3l'fU w..<l 'Rl"1 m 11<: 

(4) 3l'fU "''1ql~ w..<l 'Rl"1 m 11<: 

( 4 ) 
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10. On which institution, the responsibility of higher education in India depends? 

(1) University Grant Commission 

(2) Ministry of Human Resource Development 

(3) Central Advisory Board of Education 

(4) National Council of Educational Research and Training 

(2) 'lR'f ~ flIq;m ",,"10.4 :tR 

(3) ~ tmarr ",,116'''' ~ tR' 

11. Car: Garage: : Aeroplane: ? 

(1) Port (2) Depot 

(1) q)i (2) ~ 

(3) Hanger 

(3) ~ 

(4) Harbour 

(4) 00 

12. Amit walked 30 meters towards East and took a right tum and walked 4Om. He 

again took a right tum and walked 50 m. Towards which direction is he from 

his starting point? 

(1) South (2) West (3) South-West (4) South-East 

3lflm 'l'I <t\t aiR 30 ~ "'f<iIT = ~ aiR ~ aiR 40 ~ "'f<iIT I %" g'I: ~ 

aiR ~ = 50 ~ "'f<iIT I %" 3l<A ~ 'f<IR <'t fip.ff f.\m ij ~ 7 

(1) GfuuT (2) qfWr (3) GfuuT-qfWr (4) GfuuT-'l'I 

( 5) P.T.O. 
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13. Pointing to a man in photograph, a woman said, "His brother's father is the only 

son of my grandfather." How is the woman related to the man in the 

photograph? 

(1) Mother (2) Aunt (3) Daughter (4) Sister 

-qq; ~ q!j ~ q!j 3lR ~ m S'i -qq; 3imr ~ ,""" '~ ~ <nT fqcrr ~ 

= -oft <nT :;..,oft,1I T'I ~ I" "<ffi ~ qffi ~ ~ 3imr "" <flIT ~ ~ ? 

(1) >if (2) WifT (3) ~ (4) '15'! 

14. If the day before yesterday was Saturday, what day will fall on the day after 

tomorrow? 

(1) Tuesday (2) Wednesday (3) Thursday (4) Friday 

(1) ';"<'1"1< (2) ~ (3) "T"IR (4) 'W""I< 

15. Find out the missing number: 

? 2 

17 3 

9 5 

(1) 23 (2) 30 (3) 29 (4) 33 

( 6 ) 
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16. H English alphabets are written in reversed order, then from the left whieh letter 

will be seventh letter to the right side of twelfth letter ? 

~ aitofi qu\~,,,,, q,l 13"R: "'" 1'1 fum ~. <it "iIf1ff 3iR '!l 12<l 3119< <i; Gf1ff 3iR 

mtI1ll 3lI9< """-m WIT ? 

(1) H (2) V (3) E (4) S 

17. If 18th February, 1997 falls on Tuesday, then what will be the day on 18th 

February, 1999 ? 

(1) Monday (2) Tuesday (3). Thursday (4) Friday 

~ 18 'IRirt'r. 1997 q,l ';',,,,,,1< m. <it 18 'IRirt'r. 1999 q,l ..,.,.-~ ~ WIT ? 

(3) ~ (4) 'W"" ,< 

18. In a row of trees one tree is fifth from either end of the row. How many trees are 

there in the row ? 

~ <tit ~ q;(fR (tffiIff) 1'1 ~ ~ q;(fR <i; lR"Jq;- ftR '!l tlfTI<l ~ 'R t, q;(fR 1'1 

f.l>tR ~ ~? 

(1) 8 (2) 9 (3) 10 (4) 11 

19. In a certain code language 'POLISH' is written as 'MLIFFE'. How will 'DIG' be 

written in that code? 

~ fiI;;Ift .,i<i;R\", ""'" 1'1 'POLISH' q,l 'MLIFPE' fum Wffl t. <it 'DIG' q,l ':!<l\ 

""'" 1'1 $it fum ~ ? 

(1) AID (2) BGD (3) EHF (4) ZFD 

(7) P.T.O. 
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20. Which of the following will go with the series ? 

f.'r'Il'i " '""" ~ ~ ;f; w< umrrr ? 

121,225,361, ? 

(1) 441 (2) 484 (3) 729 (4) 529 

21. "National Council for Teacher Education' (NCTE) was established in the year 

~ 31"",Q'" ftrerr~' (lAo ~o tto ~o) <ill "'I1'AT ~ 1flI ~ of) ? 

(1) 1986 (2) 1973 (3) 1992 (4) 2000 

22. 'Midday Meal Scheme' for promotion of Primary Education was started on: 

(1) 15th August, 1995 (2) 26th January, 1995 

(3) 8th September, 1995 (4) 5th September, 1995 

lIf\!Ili'I", ftrerr oIr 0iW!T ~ ;f; ~ '11»W6 '1luR >itwrr .... lIR"l <ill 7lt of) 7 

(1) 15~. 1995 oIr (2) 26~. 1995 oIr 

(3) 8 ~tI"". 1995 oIr (4) 5 ~tI"'( 1995-.,,'t 

23. Full form of 'NAAC' is : 

(1) National Achievement and Accreditation Council 

(2) National Assessment and Accreditation Council 

(3) National Assessment and Applied Council 

(4) National Assessment and Accreditation Commission 

"I1<i>' (NAAC) "" '!"f -x;;q t : 

(1) ~ <3Q"'tt. ~ """"" ~ 
(2) ~ '1"";"''' ~ ,,"',"" ~ 
(3) ~ '1"";"''' ~ 31""¥" ~ 

(4) ~ '1"";"''' ~ """"" 3l]$r 

(8 ) 
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24. President of the 'Review Committee' (1990) for National Policy on Education 

was: 

(1) Prof. C. N. R. Rao 

(3) Dr. Sukhdeo 

(1) liIo ~o 'f'[o _0 W! 

(3) <ifo tr"'~q 

(2) Dr. Vidya Nivas Mishra 

(4) Acharya Ram Murti 

25. One of the following options indicates number of Central Universities in India 

(1) 15 to 25 (2) 26 to 35 (3) 36 to 45 (4) More than 45 

(1) 15;ff 25 (2) 26;ff 35 

26. New Millenium Curriculum-2000 was prepared by : 

(1) National Council of Educational Research and Training (NCERT) 

(2) University Grants Commission (UGe) 

(3) National Council for Teacher Education (NCTE) 

(4) Central Advisory Board of Education (CABE) 

'!'IT f'I~f.\'", 41,\,,,,,.,..2000 ~ il'RT ~ tlPm TJ'III I'If ? 

(1) ~ l'IfflIq; "'t'i'fl'l '!'i "~""1lf ~ (lRo ~o ~o _0 t'lo) il'RT 

(2) ~.q~tII"'~ 3l¥R 3lT>Wr ('1.0 'Ol'ro ~o) il'RT 

(3) ~ 3JUITtI'I> ftreJr ~ (lRo ~o t'lo ~o) il'RT 

(4) ~ ftreJr """&"''' ~ ~o 1/0 "4\0 ~o) il'RT 

(9) P.T.O. 
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27. District Primary Education Programme (DPEP) was started in : 

filr.rr II,Olfll", fmIr ",,4M ~o 1l\o ~o 1l\o) <tiT ~ 'I'f -It ""'l fll;m TIm l!IT ? 

(1) 1990-lt (2) 1991 -It (3) 1992-1t (4) 1994-1t 

28. Indira Gandhi National Open University (IGNOU) was established in : 

(1) September, 1995 

(3) Octobe~ 1985 

(1) IlId"',I995-1t 

(3) ~,I985 -It 

(2) September, 1985 

(4) October,I990 

(2) IlId"',I985-1t 

(4) ~,I990 -It 

29. In a day how many times the hands of a clock are coincident? 

(1) 22 (2) 24 (3) 30 

30. The concept (idea) of Pace-Setting School was first given by : 

(1) National Policy on Education-I986 

(2) Revised National Policy on Education-I992 

(3) National Council for Teacher Education 

(4) University Grants Commission 

'IflI-Pl'I\'''' filEl'''~ 'I!I ~ .,<lll"~ lRWI 'I!I ~ <it : 

(1) ~ fmIr -;frf<r-I986 6NT 

(2) ~ ~ fmIr -;frf<r-1992 6NT 

(3) ~ 3lUIl<Iifi fmIr ~ 6NT 

(4) fil •• filEl'''~ 3l¥R 3II>l'PT 6NT 

( 10) 

(4) 25 
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SECTION-B 

~-. 

31. Who of the following is not a Social Contractualist thinker? 

(1) Montesquieu (2) Hobbes (3) Locke (4) Rousseau 

PI '" ~ Ril d -Ii "fl <Ii'R .nql r;;,,,, "qoll d I~ 14'1 fi1 ... U,,,, 'fiJI' ~ ? 

(1) qie""'l. (2) 1ifOII (3) olt<t> (4)-.ffit 

32. Which one of the following is not a characteristics of Sovereignty ? 

(1) Indivisibility (2) Inalienability 

(3) Non-Transferability (4) Plurality 

PI '" ~ Rild -Ii "fl <Ii'R 'l'I' 'li1l'!\<11 <tlI fi1.) tldl 'fiJI' ~ ? 

(1) 3lfi1ql<>4dl (2) ~ 

(4) .sOldl 

33. Which one of the following countries is not a Republic? 

(1) India (2) England (3) USA (4) France 

PI",~Rild ~ -Ii "fl <Ii'R 'l'I' ~ 'fiJI' t ? 

(1) 'IfffiI (2) ~ (3) 3l'R)q;r (4) lIiffi 

34. Which one of the following countries is governed by a Federal System? 

(1) China (2) Sri Lanka (3) England (4) USA 

PI", ~ Rild ~ -Ii "fl <Ii'R 'l'I' 'Ii .nt', '" "'~"" "fl l11ftm ~ ? 

(1) $I (2) ~ (3) ~ (4) 3l'R)q;r 

( 11 ) P.T.O. 
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35. Which one of the following does not find a mention in the Preamble to the 

Constitution of India? 

(1) Federal (2) Democratic (3) Secular (4) Socialist 

(1) ~ (2) ""'I"i~'" (4) ... "",qIG~ 

36. Who of the following was not a member of The Swarajya Party' ? 

(1) Mati Lal Nehru (2) Madan Mohan Malviya 

(3) Ballabh Bhai Patel (4) Lala Lajpat Rai 

fi'I"1f8ftJ" it ~ ~ ~ .... ,,"" <m!t <t; ~ orff 0) ? 

(1) ~)tiI"I" ~ 

(3) o.ot'IT ~ tItR 

(2) 'lG'I ~ ~1.,<Il" 

(4) RTotT .,1'" q" "<I'! 

37. Who was the Chairman of the Drafting Committee of the Constitution of India? 

(1) Dr. Rajendra Prasad (2) Dr. B. R. Ambedkar 

(3) Jawahar Lal Nehru (4) Dr. K. M. Munshi 

'tNtiI" ~ <11\ liR'itI "flflIflI <t; _ ~ 0) ? 

(1) ~o ~ lRII':" 

(3) ~ l'IlO! ~ 

(2) ~o ofto _0 3/~""'< 
(4) ;;ifo <t;o 11"10 ~ 

36. On which date was the Constitution of India adopted by the people? 

(1) 26th November, 1948 (2) 26th November, 1949 

(3) 26th January, 1950 (4) 15th August, 1950 

~ 'ffl tiflll!lR ~ ~ q;)- -..'rIf <t; am ~ (3/q~I"I) f<I»rr 'Il!f ? 

(1) 26~, 1948 q;)- (2) 26~, 1949 q;)-

(3) 26...mt, 1950 q;)- (4) 153J1ffi1, 1950 q;)-

( 12) 
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39. Which of the following is not a Member of SAARC ? 

(1) Pakistan (2) Sri Lanka (3) Myanmar (4) Bhutan 

f.'I...,fi:lR~ct l't ~ -.IR "'" ,am (wt) <PT ~ ~ % 7 

(1) 4114>""1'1 (2) ~ (3) "*"' (4) '!CR 

40. Which of the following is not an element of State? 

(1) Population (2) Territory (3) Public Opinion (4) Government 

f.'I..., fi:l fllI ct ij ~ -.IR "'" 'U"'I <PT <R'I ~ % ? 

(1 ) iii '1 'Ii"", 1 (2) '}'fTlT (3) <iI"'fll(I (4) <,."''" 
41. The 73rd Indian Constitution Amendment Act is related to which one of the 

following? 

(1) Defection (2) Panchayati Raj 

(3) Urban Government (4) Domestic Violence 

","dl~ ~ <PT 73<'ii ~ 'Ii.h,,'l ~ f.1..,fi:lflllct l't ~ f4>"ff "'" ~ 

<f~t? 

(1) <::or ....... 

(3) ~ <1,"'1, (4) >ffit ~ 

42. Which one of the following is not related to Pluralist theory of Sovereignty ? 

(1) Laski (2) Duguit (3) Miss Follet (4) Austin 

f.'I...,fi:lflllct l't " -.IR "'" ~ <I> "s"'''lifl ~<ll'" ~ ~ '¥T t ? 

(1) ~ (2) ~ (3) t>m~ (4)~ 

( 13 ) P.T.O. 
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43. Which of the following is not a feature of the Parliamentary System of 

Government? 

(1) Close relationship between Executive and Legislature 

(2) Accountability of the Executive to the Legislature 

(3) Separation of Powers 

(4) Leadership of the Prime Minister 

f.l..., rot Ill< d -If ~ ~ 'iii' ti., <fl '1 "WI'" I qn;fi Wlffl< ~ III '1'1. d I 'Rff t; 7 

(1) ,m 441 rot "', 'I'i flM, f'1 '''' -If "E!f.'r<o W'P'! 

(2) ",,44,rot"""<IiT fllmflr<t>r <Ii l!f<I id"'~'f'1", 

(3) WI<! "<liT ~"'''''''u, 

(4) ~"<IiT~ 

44. Who among the following got the 'Bharat Raina Award' before becoming The 

President of India ? 

(1) Dr. Zakir Hussain 

(3) V. V. Giri 

(2) Dr. Rajendra Prasad 

(4) Dr. S. Radha Krishnan 

'lffi! <Ii "OS; 4Fci m ~ '!,'I f.'rroI -If ~ F<\>., "') 'lffi! WI "<liT ~.., IX fllm 'l'IT 7 

(1) ~o ~ s#! (2) ~o ~ lffiTG' 

(3) <fio <fio ~ (4) ~o '1<1"0 ''''''P"''1 

45. Which one of the following States has the highest number of million cities ? 

(1) Maharashtra (2) Andhra Pradesh 

(3) Uttar Pradesh (4) Gujarat 

f.l...,rotlll<d -If ~ F<I><! """ -If .,,,\1>1,,, ~","afi 'f'R 'Ilil ~ t 7 

(2) ~~ 

(3) "'" ~ (4) !l"1"d 

( 14) 
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46. Which one of the following South Asian Country has the lowest density of 

population ? 

(1) Bangladesh (2) India (3) Pakistan (4) Sri Lanka 

(2) '1R<! (3) ql~«11'1 (4) ~ 

47. The lower most layer of the atmosphere is known as : 

(1) Stratosphere (2) Troposphere (3) Mesosphere (4) Thermosphere 

(2) w.~",(it (3)~ 

48. Greenland appears to be greater than South America on : 

(1) Bonne's projection (2) Mercator's projection 

(3) Cylindrical equal area projection (4) Simple cylindrical projection 

(1) ~ Jre)q tR (2) ~ Jre)q tR 

(3) ~(it'1I.,'i( ilI'lIIhI Jre);! tR (4) WIIi(UI ~ (it '1," Ii( Jre)q tR 

49. What will be the radius of globe on a 1 : 62,500,000 scale? 

(1) linch (2) 2 inch (3) 5 inch (4) 4 inch 

(1) 'I'l't<I (2) <IT t<I (3). $I t<I (4) """ t<I 

( 15 ) P.T,Q, 
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50. 'Alidade' is used in : 

(1) Chain and Tape Surveying 

(3) Plane Table Surveying 

'~ oll h' il>T If'lM 1it<n i . 

(1) urtr.r 'T'i m ffl'JUT if 

(3) ~ ~ ffleJUT if 

51. 'Koyali' oil refinery is located in : 

(1) Maharashtra (2) Assam 

(1) ~o"',< if (2) 3R'f'l i'i 

(2) Prismatic Compas~ Survey ing 

(4) Theodolite Surveying 

(2) fllo1jjll 'f>"lffl ffle,"! if 

(4) ~(';1;;C ffleJUT if 

(3) Haryana (4) Cujarat 

(3) oR","" 11 (4) '.]."RT(f 11 

52. Which one of the following States has the largest area under Cotton cultivation? 

(1) Cujarat (2) Maharashtra 

(3) Madhya Pradesh (4) Andhra Ptadesh 

(1 ) ~"" '(f 
(7) Pffil'j; 

(3) _~ (4) 3lRf ~ 

53. 'World Population Day' is celebrated on : 

(1) 7th April (2) 11th July (3) 16th September (4) 5th Jome 

(1) 7~q;) (2) 11 ~ q;) (3) 16 P'id"" <f;f (4) 5"J:1 q;) 

( 16 ) 
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54. Which one of the following is the World's greatest fishing region? 

(1) North-west Pacific coast 

(3) North-east Atlantic coast 

(2) North-east Pacific coast 

(4) North-west Atlantic coast 

f.1 "1 R1 RY" ij -# 'fiR ~ 'fiT '!"'f'l 'fR"! eh! t ? 

(1) ~-q~,,>jj lrnRI <IC (2) ~-~ lrnRI <IC 

55. Which one of the following is the most urbanised State of India? 

(1) Maharashlra . (2) Tamil Nadu (3) West Bengal (4) Gujarat 

f.1 "1 R1 RY" ij -# 'fiR 'fffil 'fiT ~ '1" q) <ptl 'IT"'l t ? 

(1) 'l!!IX''S; (2) ,,[i1,,'1'§ (3) qftqlj -.,'lm;r (4) ~VI<I" 

56. 'Donbas' in Russia is famous for its: 

(1) Coal (2) Iron (3) Manganese (4) Petroleum 

(1 ) ~ <f; fur< (2) olffi <f; fur< 

57. The extent of Hydrosphere on the earth surface is: 

(1) 66 per cent (2) 70 per cent (3) 71 per cent (4) 72 per cent 

~ ~ VI ",i .. " 'fiT fiffim t : 
(1) 66 "Fc1.,,, ~ 

58. The line joining places of equal salinity is known as : 

(1) Isohyet (2) Isotherm (3) Isobar (4) Isohaline 

WIR "q "" , orR ~ 'fir fi'K;rr;'r <'!TO\T tm 'fir = ;;mrr t : 

(2)~ 

( 17 ) P.T.O. 
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59. Point of inter8Cction of demand and supply curve determines: 

(1) Equilibrium price only (2) Equilibrium supply only 

(3) Equilibrium demand only (4) Equilibrium price, demand, supply 

liM <;<[ 'If<f "" fi1 m,,~ ~ f.1>lRur <!R<Il t : 
(1) mq" ~ q\)1m 

(3) *'"" ~ liM 

(2) *'"" 'Ii\l0l~ 'If<f 
(4) ~ q\)1m, liM, 'If<f 

60. Condition of equilibriwn of a firm under long run equilibrium is: 

"l"';'IOI 1'j ~ q;l\ m ~ qj\ mf t : 
(1) MR>MC (2) MR=MR=AR=AC 

(3) MR<MC (4) MR > MC and /<;<[ AR > AC 

61. Gresham's Law will be applicable when: 

(1) Money supply is less than money demand 

(2) Treasury rate and market rate are equal 

(3) Bad money is not limited in supply 

(4) Bad money is a representative money 

m f.'mq ""'1 Wft, WI : 

(1) ~ 'If<f ~ liM ~ iI>'! .n 
(2) ,,,,,«101 G< = "i/TOTR G< W!A .n 
(3) ~ ~ 'l1?IT 1'j @rn ~ .n 
(4) ~ ~ m1W ~ m ~ 1'j.n 

62. It is not the characteristic of money: 

(1) Money is a real value (2) Money is a store of value 

(3) Money is an unit of value (4) Money is accepted by all 

"lfi" ~ qj\ fi1'l'ldI ~ t . 

(1) ~ ~ qlffifi1", 'F'l t (2) ~ ~ ~ 'F'l t 
(3) ~ ~ ~ 'F'l t (4) ~ <l'fi ;;m <41",,4 t 

( 18 ) 
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63. In the Quantity Theory of Money, the equation rvlV = PT is incomplete because: 

(2) T is assui11.cd to be COi1stant (1) V is assumed to be constant 

(3) P is assumed to be changing (4) Credit money is not considered 

!Jl:T qR'lIol R,O&I'" if MV ~ PT ~"/Ul 3!'l:'l~. ~ : 

(1) V 'lir R"l'I 'lRT 7P1J % (2) T <PI R~ 'l1'lT'Pli t\ 

64. Which economist had established the relationship bctwc('n short t<:'':"m rate of 

unemployment and rate of inflation? 

(1) Milton Friedman 

(3) James Tobin 

(1) fi1<.vr l6t:g 4 '1 

(3) ~ clf.t-" 

65. The 'Repo rate' is : 

(2) A. W. Phillips 

(4) A. R. Musgrave 

(2) '(0 :S-""l, ~ 

(4) '(0 3!Ro 'Tffit<r 

(1) Share brokerage rate 

(3) Short term interest rate 

(2) Government security di~cOLmt rate 

(4) Inten.~st on Certificate of deposit 

(2) '1"5111 ~. <Pet'" '" 
(4) WlT WlfUl-~ 'R "1M '" 

66. The starting point of Keynes Theory of Employment is ; 

(1) Marginal efficiency of capital (2) Propensity of save 

(3) Effective demand (4) Propensity to consume 

<1lRl qi <)""'1< Rl""", <PT l!RfR!<p f.l;--'1 t : 
(1) juft <t\ <11'11'" "<'<IG""" (2) <imf <t\ ~ 

(3) ~ >ittr (4) ~ q,'l ~ 

( 19 ) PT.O. 
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67. To which one of the following does the liquidity trap correspond? 

(1) Labour demand function (2) Consumption function 

(3) Production function (4) Money demand function 

f¥l if <'r f<lffi '!'I' <i; ~ ,H "''' 1 "Gffi'! 'l>f ilof t 7 

(1) WI lj\;j 'I><'R (2) B<f'I'rr 'I><'R 

(3) <jiG 1 <: 1 'I><'R 

68. Which of the following does not measure income inequality ? 

(1) Kuznets curve 

(2) Gini coefficient 

(3) Lorenz curve 

(4) % population in different income group 

f¥l if <'r <OR -'ffi 3lT<! <t\ 3l"" 11 0 1 <t\ 'l1'I 'fd)'"iffl"tIT 7 

(1) '!l"'~<" qjp 

(2) fi'R\ ~ 

(3) ~ qjp 

(4) flIfi1"l 3lT<! 'l'f if % '" 1 fi "" 1 

69. 'Stagflation' refers to a situation: 

(1) Inflationary stagnation 

(2) Inflation with rising employment 

(3) Fall in price with rising unemployment 

(4) Deliberate expansion of money 

·,~,,<fuI"1. 'It' ~ t , 

(1) ffifIr 'PRI 'lfMHol 

(2) ffifIr 1f'i ..-otlT SOU <1"" II , 

(3) ~ if 5ffi 1f'i ~ ~'l"""~ 
(4) '" 11 '[$I i!R :J<T 'l>f f<R<IR 

(20 ) 
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70. The difference between Government's total revenue and total expenditure is : 

(1) Revenue deficit (2) Fiscal deficit 

(3) Budget deficit (4) Monetary deficit 

(1) 3lT'T'! meT 

(3) .<iIC meT (4) ~·wcr 

71. 'Trade Invisibles' means: 

(1) Unrecorded trade (2) Trade in military goods 

(3) Smuggling (4) Trade in services 

(3) ~ <'i ~ 

72. Which one is not related with international trade? 

(1) BOT (2) VAT (3) TOT (4) BOP 

73. The first function of management is : 

(1) Organising (2) Planning (3) Controlling (4) Leading 

(1) Wwf (3) A>i~ol (4) ~ 

( 21 ) P.T.O. 



MSEBl1 05118 (Set - I) 

74. How many general principles of management have been propounded by 

Henry Fayol ? 

(1) 12 (2) 13 (3) 14 

7·5. Who is known as the Father of Scientific Management? 

(1) Henry Fayol 

(3) Elton Mayo 

(2) Max Weber 

(4) F. W. Taylor 

(2) 4<m ~ 'lit 

(4) 15 

(4) 1I'lio ~o ~ 'fir 

76. The management principle 'Unity of Command' means: 

(1) Receiving orders from one superior only 

(2) One head, one plan 

(3) Chain of superior 

(4) Respects for agreements 

(1) ~ "'" ~ "fI ~~ >TR! <Pffi 

(2) "'"~. "'" ~ 

(3) 'lfWi <tft ~ 

(4) ~ "" 'ffI"lR 

(22 ) 
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77. Commerce does not include: 

(1) Assembling (2) Buying (3) Selling (4) Advertising 

'I I fill"," -it {1fhl~d ~ t : 

(1 ) <i'l"" 'I (2) lPQ (3) flrn;<r (4) ~""q'l 

78. Trade means: 

(1) Buying (2) Selling 

(3) Both buying and selling (4) Exporting 

"1l:I]qR <!iT <IT<'l'l " : 

(1) lPQ-ft (2) flrn;<r -ft 

(3) lPQ '<'i flrn;<r <IT'IT -ft (4) f.'nm!-ft 

79. Registration of partnership is ; 

(1) Necessary (2) Compulsory 

(3) Both necessary and compulsory (4) Voluntary 

fll$lGr{) $I q\J?I~F1 ~~ . 

(1) 3WHllI<fI t (2) 3lf.'rqpj" 

(3) 3!T<WI'P"~ 3lf.'rqpj <iloi\ ~ (4) ~~ 

80. Cheque is drawn on : 

(1) Third party (2) Bank (3) Debtor (4) Seller 

$p ~ 'JffilT " : 

(1) ~ 'la!'l>N 1J'I (2) *" 1J'I (3) ~ 1J'I (4) ~ 1J'I 

(23 ) P.T.G. 
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81. Agreement in restraint of marriage is : 

(1) Void (2) Voidable (3) Illegal (4) Legal 

(1) "lo! (3) ~ (I) f!<, 

82. The main source of Indian Commercial Law is : 

(1) English Law (2) Indian Constitution 

(3) Trade Law of the USA (4) Trade Law of Canada 

~ '" I q I R", '" p.; '1 'I 'fiT m1R <'1m t: : 

(1) ~ {jP--ll1 t1 (e) ~nmr~J Trfcl:\'~H 

(3) 1&0 ~o '(!o Cf,1 Cl1IQIR(fl 'fr~ (4) cn~ CflT (Jwnftcn 'Hf.'>iuP 

83. The present Companies Act in India was framed in : 

(1) 1947 (2) 1950 (3) 1956 (4) 1972 

84. Financial Accounting does not coveT: 

(1) Direct expenses (2) Indirect expense!> 

(3) Estimated material cost (4) Actual material cost 

(24 ) 
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85. What is the minimum number of members for the formation of a public 

company in India? 

(1) 2 (2) 5 (3) 7 (4) 10 

86. Which of the following meetings is called once in the life of a company? 

(1) Statutory meeting (2) Meeting of the Board of Directors 

(3) Meeting of creditors (4) Extraordinary general meeting 

(1) ~ <'!'IT (2) fi ~ k'1 '" ~ <F\ <'!'IT 

(4) ~ '111'1,,,, <'!'IT 

87. When was the first excavation of Indus Valley Civilization made? 

(1) 1909 (2) 1915 (3) 1917 (4) 1922 

88. Which of the following metals was probably unknown to the Indus Valley 

people? 

(1) Copper (2) Bronze (3) Gold & Silver (4) Iron 

(1) <ITiTT (2) q;jw (4) <11m 

(25 ) P.T.O. 
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89. Which Veda was composed first? 

(1) Rigveda (2) Yajurveda (3) Sarnveda (4) Atharvaveda 

(1) ~ (2) ~ (3) miW:" (4) 3!'I'lirq 

90. What Was the normal form of government during the Vedic Period? 

(1) Monarchy (2) Oiligarchy (3) Democracy (4) Autocracy 

(1) ",",i~ (2) 'ficlHd~ (4) (1!'1I~II15l 

91. Which of the following was the family name of Buddha? 

(1) Tathagat (2) Gautamiputra (3) Gautam (4) Siddharth 

(1) tr'IJlI<! (3) 7f)-erq (4) ~ 

92. Who founded the city of Tughlaqabad near Delhi? 

(1) Ghiyas Uddin Tughlaq (2) Mohammad-bin-Tughlaq 

(3) Firoz Tughlaq (4) Tughlaq Shah 

(3) ~ \l'""''' (4) \l""'''' m;< 

(26 ) 
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93. Which Delhi Sultan shifted his capital from Delhi to Daultabad and back to 

Delhi ? 

(1) Iltutmish (2) Balban 

(3) Alauddin Khilji (4) Muhammad-Bin-Tughlaq 

fiR! ~ 1JRfR ~ 3N-1\ ~ ~ ~ <1101<11.", 3ft'! "f!. ~ """I'ftR<1 qiJ 7 

(1) ~",<1f11" (2) 'fWf1 

(3) 0l0l1'3©1 !tiOloi1 (4) ~-~-g"01'" 

94. Which of the following Sultans introduced reforms in the market system? 

(1) Qutubuddin-Aibak 

(3) Razia Sultan 

(2) Balban 

(4) Alauddin:Khilji 

fII.., ~!ti<1 if ~ fiR!1JRfR ~ 'IT<ifT'{ ~ if ~ "R1'lT 7 

(1) '!lg.'3©1 ~ (2) ~ 

(3) ~1JRfR (4) 0l0l1'3©1 furoroft 

95. On the banks of which river was the City of Vijay Nagar located? 

(1) Van Ganga (2) Kaveri (3) Tungabhadra (4) Krishna 

fiR! ~ '" "<1C 'R III ""l1' IX fW<l 'IT 7 

(1) <R >i'1T (2) ~ (3) \i'l'lOl (4) T""1 

96. Which Mughal Emperor had a chain with bells hung in his palace for petitioners 

seeking justice to ring? 

(1) Jahangir (2) Akbar (3) Shahjehan (4) Aurangzeb 

fiR! ')'TO! ., <;'" " ~ 3!lR "'" '1" 01 if "lTlf '" '" R" I fi: <if '" ~ ~ ~ "Pffi ~ 
~ oft 7 

(2) 3l<P<R (3) ,,,,,,,,iii 
(27 ) P.T.D. 
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97. Where was the First Session of Indian National Congress held in 1885 ? 

(1) Calcutta (2) Bombay (3) Pune (4) Madras 

(1) '"<'1,"\11 (2) ~ (3) 'r'I (4) '!i:R! 

98. In which Session of the Congress there was a split between moderates an 

extremists? 

(1) Bombay (2) Calcutta (3) Sura! (4) Ahmedabad 

(1) ~ (2) ,"<'1,"\11 (3) W" 

99. Who established the Indian Muslim League? 

(1) Md. Ali Jinnah 

(3) Salimullah Khan 

'fffi!m ~ ~ q\l '<l1'RT f<VfA q\l ? 

(1) '110 :w;fi ftFn 

(2) Hasra! Mohani 

(4) Syed Ahmad Khan 

(2) "i.<'ffffi 'I16RT 

(4) ~ 3l"O'lG <OR 

100. When did the congress adopt complete independence as its goal? 

(1) 1925 (2) 1927 (3) 1929 (4) 1931 

(28 ) 
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